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General Insgyuctions:
Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 38 questions, All questions are compulsory,
(@) This question paper i divided into five Sections - A, B, C, D and

(1) In Section A, Questions no. 1to 18 qre multiple choice questions (MCQs) ane
questions number 19 and 20 are Assertion-Reason based questions of ] mark

each,

(iv) In Section B, Questions no. 21 to 25 qre very. short answer (VSA) type
questions, carrying 2 marks each, y

() In Section C, Questions no. 26 to 31 are short answer (SA) type que
carrying 8 marks each. 5

i)  In Section D, Questions no. 32 to 85 are long answer (LA) type
carrying 5 marks each.

(vii) In Section E, Questions no. 36 to 38 are case study based questions carryile
4 marks each.

(vitt) There is no overall choice. However, an internal choice has been prpvlffne‘i ;
2 questions in Section B, 3 questions in Section C, 2 questions in Section -

2 questions in Section E.
(ix)  Use of calculetor is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

Sum of two skew-symmetric matrices of same order is always a/an :

1.
(A) skew-symmetric matrix
(B) symmetric matrix
(C} null matrix
(D) identity matrix

g =3 4

) IfA=| 3 0 5|,thenAisa:

- -8 =5 0
4 noll matrix B el i
(C) skew-symmetricmatrix (D) diagonal matrix
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(A) y=cotx (B) y=cotlx
(C) y=tanx (D) y=tantx

4, ' '
Let both AB' and B'A be defined for matrices A and B. If order of & **
n x m, then the order of B is :

(A)  nxn (B) nxm

(C) mxm (D) mxn

lag(1+ax)+lqg(1-bx}_, forx 40

'5- If ﬂx} = o
k , forx=0
is continuous at x = 0, then the value of kis:
(A) a (B) a+h
D) b

(C) a-b

6. Ify=acos(logx)+b <in (log %), then x%yg+ XYy is:

B) ¥

(A) cot (log %)
(D) tan (log x)

g): =Yy
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7. [Bec-l (~v/3) a8 (47 B T3
= o =
(A} 5 =
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2 12 s a'constaﬂt- then — 18
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8. If tan—1 (x2_ %) =7 A _;_
Ay = 2
¥ ™) :
(e '
x g, Then, which of the following statements is
b

2 Let fix) = Xﬂ;
incorrect ? :
(A) Minimum calue of £ does not exist.

LTI

(B) There jsnopoint of maximum value of fin R.
ere i

(C)  fis continuous at% = 0.
(D)  fis differentiable abX = 0.

10. X+5 % dx isequalto:
(x +6)?
(4) log(x+6)+C B) & +C
i =1
¢ = D) —=+C
( J e +C ( ) (x+6)2.

11 Let £'(x) =3 (x+2x)— _4§ +5, f(1)= 0. Then, f0)is:
G '

2
24 S 4+5x-11
(A) 1{3+-312+;2'2-+5x+-_11 (B) %2 + 3% +'32 + bx

2
© x3+3x2- el g VP -
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ntial equation

The ordes ang gegre® of the diftere
d2.‘" e i ' df%] are respectively :
-t + 4 \ - !'*‘i‘l ;' l
tj:: - e @ 2,1
e (D) 1, not defined
©) 2, not gefined : -
L defined pProblem (LPP), the given objective fanetion o

For a Li X ing ined '
o i P o PQS dtermind by he ek of et
T :h;‘ged region in the graph.
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(Note : The figure is not to scale)

3 a4y s 15] _(7- :3] : ('18 2
P‘=‘ —_—— = o e ,.R= =i ,._SE e —
(13’13]’Q [_2 £ \aty G 7)

Which of the following statements is correet ?

18 g)

) Zigminimume Sl2
(A) .'.sr:[:u_n.u:tmr.na5[,F ~

o ! e (R R
B) ZismaximumatR[ L 2
(B) 15111&:{11:11:1!131:13(2,4]
(C)  (Value of Z at P)> (Value of Z at Q)
(D) (Value of Z at Q) < (Value of Z at R)

The area of the region bounded by the curve y2 = x between x = 0 and
x=11i8"

3 :
(A) 7 q units (B) % 8q units
(C) 3sq units (D) % §q units
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